Kinematics Review
Solving Equations

· Be sure to follow order of operations to isolate for your variable (BEDMAS backwards)

Uniform Motion/Acceleration

	 
	Slope
	Area Under Graph

	d - t
	v
	/

	v - t
	a
	d

	a - t
	/
	v (final)


2-D Kinematics

Angle to the horizontal




N, S, E, W
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                                                                                           [S 20o W] or [20o W of S]
Steps to Adding Vectors:

1) Draw a vector Diagram (tip to tail)

( to each other

2) use 
[image: image1.wmf]222

abc

+=

 to find R
3) find 
[image: image2.wmf]q

 using trig functions

Not ( to each other

2)  Draw each on its own grid

3) Break up into x and y components
4) Get Rx and Ry
5) Add Rx and Ry tip to tail

6) use 
[image: image3.wmf]222

abc
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 to find R
7)find 
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 using trig functions

Note:  







Relative Motion

· make sure equation is set up as per notes

Projectile Motion

1) Vertically Upward
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2) Horizontally Thrown

· time is equal for vertical and horizontal components

H
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3) Into air at an angle

· Time is the same for vertical and horizontal components
· Initial velocity will have both an x and y component

· Calculate each

H
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· There are many variations to these (practice lots)
(





20o





x: +


y: +





x: - 


y: +





x: - 


y: -





x: +


y: -





need 3, solve for 4th





need 3, solve for 4th
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